BERAEEMXEMY/ILE AFBBIER A mE) LD

MARRGLER

Fs BEHUKD #aE SHES WAL ER EEHEANERAEE
1 001 Ak 370785%kxkkk%8684 95 b
2 001 T 37028 43kkk0kx1028 92 £
3 001 PR 370284sk*kk%4%3926 92 =
4 001 T 37021 Ixeteteokokk 202X 92 =
5 001 K*IH 371 122kk3kk54%0364 92 =
6 001 TR 3701 23%%xkk%4%3426 91 =
7 001 X1 *Fi 370284+xwkokek:0028 90 =
8 001 Bk 370785%kkkk3kx8986 89 =3
9 001 T 37078 Iskskkokx 2560 89 2
10 001 Xij* 370284 skkk4%604X 88 =
11 001 Pt 370284skkskk44%6428 87 =
12 001 7R 37078 4kkk30k%0528 87 £
13 001 HFR*JE 371 102sk*kk%4%5046 87 =
14 001 7l 37028 4sk0kkt0rx 1 02X 86 £
15 001 frtil 3702848446022 86 =
16 001 Ak 370921 skskskskskokskk 4821 86 2
17 001 EREST 370284skkkk%4%0449 85 =
18 001 2K 371326%kkk4%8821 84 =
19 001 X 4L 370284+ skokekox3944 84 =

20 001 T3 37021 Ixetetekokokok (0522 84 =
21 001 Mok R 411502s*3k854%904 7 83 =
22 001 T 22052 43kkk30k%1029 82 £
23 001 P*TR 370284skkskk54%6023 82 =
24 001 Sk EE 370323kkkkk4%0427 81 =
25 001 Ty 370284 kskkokotorx 1221 81 =
26 001 R 37021 Tsksiokokx0527 81 i
27 001 YR 370982444+ 4966 80 =
28 001 X 3T17024kkk4% 2847 80 =
29 001 FHEL 37290 Lskskskkkk2860 80 =
30 001 ¥x 37021 Iskstokokx 1523 79 £
31 001 Aok 370284skkkk54%6420 78

32 001 S5 3711225 kkkkkkk6628 76




BERAEEMXEMY/ILE AFBBIER A mE) LD

MARRGLER

Fs BEHUKD #aE SES WAL ER EEHEANERAEE
33 001 BN 370284skkskkx4%2149 75
34 001 Ay 37021 Ltk 0527 75
35 001 [ 370284skk%54602X 75
36 001 ¥ 37032 stk 0928 75
37 001 X T 370704+swskkek4:0226 73
38 001 o 37028 43kkk30k%6049 72
39 001 Fo 371524k%3kk%%3020 72
40 001 Hxff 37078 4xskkk4%1528 72
41 001 Fx 3707245kk440k% 1884 72
42 001 Fx 37021 3kiokiokk5627 71
43 001 2ok 372929kkskkkk2424 70
44 001 X%k 370284%%xkk%+%6028 70
45 001 ba 37158 skskskotnkk606 1 70
46 001 T 37021 Iskstokiokk 1526 70
47 001 i * 37028 Iskskkiokk5326 70
48 001 JEEPS 370785%kk4k0kx3701 70
49 001 PG 370322skkkk%4%6748 70
50 002 PEELSTN 370284%%xkk%%%1549 92 =
51 002 T+ 3711028553821 91 =
52 002 FhEF} 370202+xkkk4%54 25 90 =
53 002 Tk 370284skkskkx4%2120 89 =
54 002 frklig 370284%%xkk%x%0045 89 =
55 002 Ak 370284skkskkx4%1529 86 =
56 002 fift 2 3702823 kkk30k%2024 86 £
57 002 Tx 370284+ wskkekox5329 85 =
58 002 AL 37028 4skkkxk4:004 1 85 B2
59 002 B i 37068 3skkkkk4%4229 84 =
60 002 ZExgE 370786%xkkk4x0024 84 =
61 002 H * 370782kkkkx4%0224 84 =
62 002 T 370284%kkekokokk 2125 84 =
63 002 B 370785%kxkk3k%4084 84 b
64 002 [N 37021 Dtk 0520 83 =




BERAEEMXEMY/ILE AFBBIER A mE) LD

MARRGLER

Fs BEHUKD #aE SHES WAL ER EEHEANERAEE
65 002 xR 3702848454003 83 b
66 002 S 370284 kkk4%04 22 83 =
67 002 Wk 370284sk*3k8%4%0026 82 =
68 002 Exjik 370283 kkks0kx3525 81 £
69 002 pAES 2 370284 kskkketokxk5141 80 =
70 002 [HIES 370284 kxkskkkkx3927 80 2
71 002 Wk 370284skkskkx4%0445 76
72 002 ki 3702848k 0027 75
73 002 Fx 37028 4kkk3k%5623 75
74 002 X 372928 %kxkk%+%5226 72
75 002 ek 370284skkkk%4%0446 72
76 002 g 220523 kkk0kx1027 72
77 002 Rk 37021 Lkt 1043 70
78 002 £33 3711023k0kk30k%1317 70
79 002 1 37021 4skskkiok®4524 70
80 002 T 37028 4kkk0kx 3322 70
81 002 Tk 370284skkkkx4%0425 70
82 003 P 370202+kkk4%3553 91 =
83 003 THE 370284xwsekkekox2720 90 IS
84 003 Ry 370284 skkskk 152X 90 =
85 003 K|t 37021 Lksorsonksk0022 89 2
86 003 ik Fay 370285%kkk30k%2029 89 £
87 003 FL*H 22062 kkskkx%2028 88 =
88 003 Wik 370683 kkk0kx3227 87 £
89 003 Tkt 370284k wskokekotok 1548 87 =
90 003 X 370283k 2028 86 B2
91 003 X * 5% 370283skkkk%4%0056 86 &
92 003 Tk 3T1526%kkk84%6023 86 =
93 003 Rk 370283*xkokekx8928 86 IS
94 003 i 370283 kkk0k%5229 86 B
95 003 kA 36242 kkskotonkd 727 85 &
96 003 i 370782skkk30k%1623 85 £




BERAEEMXEMY/ILE AFBBIER A mE) LD

MARRGLER

Fs BEHUKD #aE SHES WAL ER EEHEANERAEE
97 003 FK*J0 37021 Ikswteloletotek 1022 85 5
98 003 A% 37028 Iekaokriorx 002X 85 £
99 003 g 370284skkskk%4%5126 84 s
100 003 T 37112 Iskstokiokx0223 84 £
101 003 ik 22062 [¥sieloketx0528 84 5
102 003 223 370282kkkskkkkx4629 84 2
103 003 R 372330%skkketokx008 1 84 &
104 003 ek 37021 Dotk 2028 83 =
105 003 Ak 37028 Ikl 4624 83 IS
106 003 XIHy 370284 kk84%0440 83 =
107 003 ATl 37021 Ikswteloletox0025 83 S
108 003 Ly 370828 kkk0k %4723 82 £
109 003 fi*3% 371324 wskkekot64922 82 =
110 003 P 37132 Txxskkkkk092X 82 =
111 003 HH* 37048 Ikswteloletotk 7722 82 5
112 003 ok 372925%kkskkkkxT543 82 2
113 003 R 370284 kxwekokekon 1228 81 &
114 003 & 3702823 kkk30k%4880 81 =3
115 003 AR+ YA 370284k wsekokekonx3124 81 IS
116 003 [ 35| 37021 Ietetekkokok 1047 81 =
117 003 i 370283 wkkekox9529 80 =
118 003 *dl 370683xkkk4%1210 80 =
119 003 Wk 370284+ wkokekotk 6723 80 =
120 003 Fas X 370284 xkkk4%3942 80 =
121 003 T 370502 skkekot 1620 78
122 003 XA 370282kkkk%+%6226 76
123 003 S 37021 Ikttt 1029 72
124 003 YEL YA 371323 %xkekekokokk 4615 70
125 003 pAES TR 37021 Ikstololetorx2045 70
126 003 Fhxi 370783 kkk30k%3580 70
127 003 el 370284+ wsekkekx3315 70
128 003 B2 at 37021 Dksetolokx 1014 70




